2022-11-17 Jussin Baari 17112022 Lopputulos

3 poytid, 6 paria. Jakomddra: 25. Keski: 50.

Sija Pari Pisteet % Nimi J-ID Kerho

63 63,0 Leo Leppénen - Varpu Honkakoski 3007 1254 Akaan Bk - Salon Bk

53 53,0 Anna-Liisa Hiuspdd - Robert Séltin 2918 2966 Salon Bk - Ei SBL:n jdsen
51 51,0 Anneli Saneri - Tuure Salminen 1959 2962 Ei SBL:n jésen

50 50,0 Jaakko Salo - Ulla Kakko-Paajanen 2981 2938 Salon Bk - Ei SBL:n jésen

DR W -
— W N W

44 44,0 Hannu Nokka - Jukka Pettersson 3023 Salon Bk
6 2 39 39,0 Jaakko Viima - Matti Rintala 2080 3024 Salon Bk
Jako: 1 Jako: 2 Jako: 3
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
24 2v W -1 a3 50 31 61 4ax E -2 o7 300 40 61 5« S = ¢K 400 40
61 29 W -1 a3 50 31 24 IN W +2 &4 -150 22 24 S5& S -2 ¢4 -100 22
35 IN W+l a6 -120 04 35 3N W = aJ 400 04 35 49 W = o] 620 04
Jako: 4 Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
35 2v N 13 a3 200 31 61 3N S = ¢«K 600 40 15 2¢v E = #A -110 40
61 3v N 2 ¢4 200 31 24 2N S +1 8 150 13 43 2v E +1 ¢A -140 13
24 2v N = «Q 110 04 35 2N S +1 «Q 150 13 62 3v E = oA -140 13
Jako: 7 Jako: 8 Jako: 9
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
43 3v N = ¢K 140 40 15 3N S +1 a8 430 40 62 S5exW -2 ¢A 500 40
62 2v N = ¢4 110 22 43 3a E -1 oA 50 22 15 5S¢ W-2 A 200 22
15 2¢ W = &8 90 04 62 24 E = ¢A -110 04 43 4 W -1 ¢A 100 04
Jako: 10 Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
43 IN W -1 o] 100 40 21 3a N -1 vA S50 40 63 2v N +2 aA 170 40
15 24 N -1 &2 -100 13 54 1le¢ E +2 #10 -110 13 54 2N W = ¢K -120 22
62 2¢ S -1 26 -100 13 63 le E +2 &K -110 13 21 3a S -2 A 200 04
Jako: 13 Jako: 14 Jako: 15
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
54 4 S +1 ¢K 650 40 63 64 E -1 v4 50 40 21 24 E = o3 -110 40
63 3v S +2 K 200 22 54 44 E +1 &J 450 22 54 2a E +1 #8 -140 22
21 IN S +1 «K 120 04 21 60 E = 410 980 04 63 IN N -3 a6 300 04
Jako: 16 Jako: 17 Jako: 18
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
52 IN N +1 &3 120 40 64 3a N = a&A 140 40 13 2¢ W +1 aA -140 31
64 2¢ N +1 &Q 110 22 13 36 W = ¢A -110 22 52 2v W+l ¢2 -140 31
13 2¢ S -1 5 50 04 52 4ax S -2 ¢6 300 04 64 2¢v W +2 aA -170 04
Jako: 19 Jako: 20 Jako: 21
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
13 46 S +1 o2 450 22 52 64 N = oK 1430 40 32 49 S = o7 620 40
52 44 S +1 #6 450 22 64 44 N +2 ¢K 680 22 41 2v S +1 &5 140 22
64 44 S +1 vQ 450 22 13 66 N -1 ¢Q -100 04 65 4 S -1 10 -100 04
Jako: 22 Jako: 23 Jako: 24
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
32 3N S 2 &2 460 40 41 2v N = o3 110 40 32 1a E -1 #5 50 40
65 3N S +1 5 430 22 65 3% S -1 %] -100 22 41 2N W +1 «4 -150 13
41 3N N -1 &3 S50 04 32 4ax S -2 8 500 04 65 3N S -3 ] -150 13

SBL 0302 Salon Bridgekerho



2022-11-17 Jussin Baari 17112022

Lopputulos
3 pOytad, 6 paria. Jakoméadra: 25. Keski: 50.
Jako: 25
Pari Sit LK Tulos Pisteet
32 3¢ N -1 a7 50 40
41 5ex N -2 aA 300 13
65 4ex N -2 &9 -300 13

SBL 0302 Salon Bridgekerho



